520 Munsell System Y,,,=100
7 NM,..C=2, V=1, 2,5,8&9, P40
migstohe chromaticity diagram (x, y)
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X,~=100,93Y,,=100,00Z,=64,68 B,
Xw=0,3799,,=0,3764 10
Ao= (@0~ ag,) Yis (VY1913

Bo = (B ~ bo) Y15 (/Y1913

ag = [xly]

bg = byq [2/}]

ay =1, byp=-0,4

'
n= P40 1o

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40 -10
chroma (A*g, B*q)

BE121-2A 1




X,=100,93,,=100,00Z,64,68 B,
%,,=0,3799y,,=0,3764 1
A= (@ —ar ) Yig (VY1913
B1 = (by ~ by ) Y1g (Y1913
3y =ay[(x-0,17Dh] i
by =byo [2M]

80=1, byo=-0,4
Mr;=1,000b7,=0,171 :

r10

n = P40 -10

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40 T

r—-10

chroma (A*;, B*;)
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X,=100,93,,=100,00Z,~64,68 B,
%y=0,3799y,,=0,3764

Ap= (@ = ay) Yig (VY1913

Bz = (b~ by, Y15 (Y1913

ay =2y [(x-0,17Dh]

b,=ba0 [(Mp1x+bp1)/Y]

ay =1, byp=-0,4
Mp;=-0,169,0p;=0,389 |

|:O
n = P40 10 ' ' o
40
Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40 -10
chroma (A*,, B*))
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X,=100,93,,=100,00Z,64,68 B,
%,,=0,3799y,,=0,3764 1
A= (@ = as) Yig (VY1913
B3 = (b3~ bs ) Y15 (/Y1913
ag =ay [(x-0,17D/y] i
b3=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
mD1=—0,974,bm=0,6'58 n

r10

n = P40 -10

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40 T

r—-10

chroma (A*3, B*3)
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X,=100,93,,=100,00Z,~64,68 B,
%,,=0,3799y,,=0,3764

A4 = (@ = a4) Yia (VY1913

By = (g~ by ) Y15 (VY1913

8y = a0 [(x-0,171y]

b4=by0 [(Mp1X+bp1)/Y]

ay =1, byp=-0,4
Mpy=-0,169,bp,=0,389

:
n = P40 ~10 @

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40

r—-10

chroma (A*,4, B*,)
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X,=100,93,,=100,00Z,64,68 B,
%,,=0,3799y,,=0,3764 1
As = (@~ as,y) Yia (VY1913
Bs = (bs ~ bs ) Y15 (/Y19 /3
a5 =ay [(x-0,17Dh] i
bs=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
mD1=—0,974,bm=0,6'58 n

r10

n = P40 -10

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P40 T

r—-10

chroma (A*s, B*s)
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X,=100,93,,=100,00Z,64,68 B,
%y=0,3799y,,=0,3764 10

Ag= (86~ 3g,1) Yag (VY19 M3

Bg = (B ~ bs) Y15 (/Y19 /3

g = ago [x/Y]

be=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4 A
le=—0,974,bm=0,6'58 n n 6

n = P40 —10 ' ' o
40

Munsell System Y,,=100

C=2,Vv=1,2,5,8&9, P40 -10

chroma (A*g, B*g)
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